v 135

SUUNNITELMAN KOORDINAATTIJARJESTELMA GK24/ N2000

[eiie)]
3 <
R
= >
g0
v
x c
>oi=
g E
= @
- ¥
c
[
=3
=
vy
(@]
89'ZT S
......... 95°G9Y o LSVTT
WV\ €619V
nieyuossiy 8,1 S 1/vel
89t < o | //77Sh
~~~~~~~~~ QQ#O- \
096=S \
/
p
SO'VLT ~F
85TV
e
+
0S6=S ,
N
J
9
— - {
~
Ny ~
g -
Q 3
-z
\
[ /
— /
000T=S
, L
~~~~~~~~~ \ /\
aliefons/ejAenoising /
||||| L1921 A
6T TIE (
| ,/
|
)
—1
000T=S
- —L
< >
-
Vs
S, \
o N
\
00ST=S \ \
\/
o L
AN
AN
as
/
......... . 90'€eT
*seA el elnynsyion [ SES
......... <
AN
/ l—
P
-
~ \\N
00ST=S L ©
i)
||||||||| £
“seA Isug| e[nyns}oT c
||||||||| o]
©
4
=
s
Re)
c
<
Ny
N
N
J
X
yd
~ L
e
!
e
00v=S
1
29421 b
||||||||| T€0S L
10 n1ejueNPINY -
IIIIIIIII K
001=S 7
_ L
3 o
o G
N ' so0zt
¥1°92T o) )
S6'TT s ’|Tr
€09 S mm%mmm N R
571 < 4
njejuossi :
AUOSSIY ol 000 2 n o "
IIIIIIIII o ¢ N N —
Lo | i L] Lo |
> > o > >
R
c x
3 0
m c
c "m
5 E
e 2
> C
g S
5
-

o
o
-
—
S
g m . N
£ o g |8 To)
s R E EO
1= = a (N
of | E
] o =
) m 0 o vm
g Q = — =
£ 2.3 ° Oz
2 | £z 2 E8| HEY
s |_ 3|z 3 A
L gz 1gi®] ¢
: (2R 2 EX|E I
£ E X |E O ZhH|& N|E+—
S§es=
S ELS
_O0 B85 €E
= mi
fRa:
o mmme @
= £
= ©
T - e
S e - 3
g8 o <3
g ltce SIE £
. £ 5 _W £ % 2 8
2 TEE | 2%
3 |8 |ESc S| Kad ET
S |8 sT 1 X 3
o
o
[Fp]
]
89VZT |
797717 ev'EeT] ;
=249
418 g8
S9VTT| STETT | <f S|l o
S &
vrvel | TSECT |
zever| ezt | oooe 4|15
w/ln
_ 4 ___|\L
T1EVZT | €0veT | 000z ~ -
]
ovvzT | TTYer
od 18w
09I 6ZTVII|F S =
Il 1
_ _| o >
¥8'veT | vSvetT d .
]
60°SCT | €8'vCT |
00'S.
. — . — |
€€°GZT | S8VTI % c
ﬂg 0,
e vov7T ] & [\
8G°GZT | v9veT I =
©00ss | | <
Z8'STT | 0T'STT | oA
90'921 | 00°SCT ]| !
ST'9ZT | £8'STT ]
€€'92T7| 66'9ZT ]
1€9217| ST'9¢T | ;
o
0z9zt| 1€971 | R
]
86'GZT | €0'9ZT 7]
99'S7T | €9'SCT ] !
TE'SZT | SS'STT
]
96'vZT | €6'VCT ]
o
T9ver | LLveT | _
ZeveT | 90veT
OT'vZT | €8°€CT]
S6'€ZT | 8L'€CT] ;
98'€ZT | €6'€CT ]
0 ]
vereet| Lover |
88'€ZT | TOVCT m| o
o Q
o Q@
00vZT | LL€TT] > o
, | T
LTV | 68°€TT ]
vzt sover | !
o
1vzT ] 9zver |9
]
00'SZT | ¥8'SZT]
62°'STT | 9zt ;
65°SZT | 007217
]
88'GZT | LE€9TT ]
o
(19t 86zt S !
9v'9zZT | L6VZT
9/,9ZT 7| ¥T'STT ]
S0LZ17| v6'LeT ;
ze'Let| vsLer
]
_ 1o
LE7LTT7| TH9ZT (W
8T°LT17| STLeT] !
8r'9e17| 19'8217| 000E &, | S
2R
| | ___ A ~
9€'9ZT | ¥9°LZT 7| 000z
il b
R i 3,8
60971 | S8'STI =AHE=
58
€0'9z1~ 90'szT” ©
(%,]
“ @ 3
) ) S
c = >
z
& = =
= & o
4 o L
- > <




